
LES ENTAMES à SANS ATOUT 

Quelle est votre entame en Ouest ? 

 
1) 

  A V 7 5 4 

  R 6 

  D 10 9 

  V 8 6 
 

 
Sud Ouest Nord Est 

1SA Passe 2 Passe 

2 Passe 3SA 

2) 

  A V 7 5 4 

  R 6 

  D 10 9 

  V 8 6 
 

 
Sud Ouest Nord Est 

1SA Passe 2 Passe 

2 Passe 3SA 

3) 

  9 7 2 

  R V 8 

  D 7 6 2 

  V 8 6 
 

 
Sud Ouest Nord Est 

1 Passe 1 Passe 
1SA Passe 3SA 

4) 

  9 7 2 

  R V 8 

  D 7 6 2 

  V 8 6 
 

 
Sud Ouest Nord Est 

1 Passe 1 1 
1SA Passe 3SA 

5) 

  V 5 

  D 9 4 2 

  R 7 3 

  D 10 8 6 
 

 
Sud Ouest Nord Est 

1 Passe 1 Passe 

2 Passe 2 Passe 
2SA Passe 3SA 

6) 

  9 7 

  9 7 2 

  R 10 8 4 

  D 9 7 2 
 

 
Sud Ouest Nord Est 

1 Passe 2 Passe 
2SA Passe 3SA 

7) 

  A 7 

  R D V 9 8 

  7 6 2 

  5 4 3 
 

 
Sud Ouest Nord Est 

1 Passe 1 1 
1SA Passe 3SA 

8) 

  D 10 8 2 

  8 6 4 

  D 10 9 2 

  A 6 
 

 
Sud Ouest Nord Est 
1SA Passe 3SA 

 

 


